
 

41
15

 The denominator of  
7
3
  is 

 
12.5 % Calculate 8 × 

2
3
 + 

5
3
 

3 The top part of a fraction is the ... 
 

7 Express 
5
4
 as a mixed number 

numerator Multiply 3 by 
2
5
 

 
1
1
4
 What is the quarter of a third 

6
5
 Work out 9 × (

2
3
 + 

5
3
) 

 1
12

 
2
3
 and 

4
6
 are …… fractions 

21 
Which operation does the  
fraction bar represent ? 

 
equivalent Express 

3
9
 in its lowest terms 

division The reciprocal of  
41
15

  is 
 1

3
 The opposite of  

41
15

  is 

15
41

 The numerator of 
11
5

 is 
 

– 
41
15

 Cancel the fraction 
6
8
 

11 Half of  
5
3
 

 3
4
 The bottom part of a fraction 

is… 

5
6
 Two thirds of  9 

 
denominator Simplify 

64
16

 

6 What is 
1
8
 as a percentage 

 
4 Add  

7
3
 and  

2
5
 

 
 


